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Instructions for the candidates :

1. gqfamelf oMR F9T 9% 9T amer |- Candidates must enter his /

her Quesﬁon Booklet Serial

7y gieaT #WiE (10 $F F) Ny 10 Digits) in the OMR

3TvT forgd

Answer Sheet.

2. QT eI 397 ?Fﬁ'?' ¥ gt 2. Candidates are required to give

I 7/

their answers in their own words

as far as plracticable.

;’1 Em%:ﬁ IR Tl w /3 gT 3% 3. Figures in the right hand margin

qurfer fifeee ava &1

indicate full marks.
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4. 9v9 F e wEH Ygd @ fw 4 15 minutes of extra time have

15 R & 3% 5T Iear baen allotted for the candidates to

2 read the questions carefully.

5. 98 R¥YF §1 @vel § ¢ — mug-ar S5 This question booklet is divided

09 WUZ-F | into two sections — Section-A
and Section-B.

6. TUI-7 ¥ 80 a?gﬁ-’rg oy g‘; 6. In Section-A, there are

: " ’ ' 80 objective type questions; out
74 & =T 4o xvAt &7 Fww g _

of which any 40 questions are

#1 vdw & ke 1 siw PR &1

to be answered. Each question

qﬁ EF)? WW 40# G?ﬁﬁ? JTFI? carries 1 mark. If a

FT 37 oar & @ w40 gyl & . candidate answers more than
: _ 40 questions, then answers of
FT FT 81 Godiw+ g1 T3 I .

" first 40 questions will be

39T FTF T OMR FTR-97F H _
evaluated only. For answernng

e 77 wet faweT @l et/ Bt these darken the circle with blue /

w7 O @ ¥ et ot nET & black ball pen against the

correct option on OMR Answer

‘Page 2 of 44
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&@ReAv / ST @ / &y s ¢ Sheet provided to you. Do not

. use whitener / liquid / blade /
YT T FT OMR IT-G%F H e

nail etc. on OMR Answer Sheet;

TqRT AT HAT 2, QT g |
' otherwise the result will be

g smr=g @l treated invalid.

7. @UE-T ¥ 24 Y I wyw § 7 In  Sectlons, there are

. 24 short answer  type
7 8 uvT wifw oA &, 8WIT 3
| questions. Out of these, eight
T W ¥ U9 8 WiA Wl . s T
: o _ quéétions are froﬁ‘t Physics, eight

questions -are from Chemistry

frarr & &1 9w fawg (wifa
__W’ e Gﬂa -'and "eight questions are from

famr) d WR-AN qvil #T ST Biology. Four questions are to be
31 &) vdw & fol@ 23F Pryffeg - answered from each subject
. . - {(Physics, Chemistry and
¥ g7 ol 30 @IS H 6 g | _
- 'Biology). Each question carries
g gv7 R4 o & frd @ -

2 marks. Apart from these, there

2 wyT sifaw e &, 2 W |
, are 6 Long Answer lype
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| ' questions fr; which two question
e ¥ i 2w o ’

ch from Physics, ChcmiSt,y
P'-‘t'?iﬁ ca /
¥ &1 i wrer & sl .

and Bilology are there. [on g

Answer lype questions from

T I v sl Ry & frw

Physics carries 6 marks each,

5 3% Freie &1 adw fawer . and from Chemistry and Bio_!ogy

(F s, v vrer Ud  cdrries 5 marks each. Answer of
' ; tion each from Physics,
T frrT) @ ue-vw g a7 one ques
. ; _ Chemistry and - Biology i
IR 31 3ffrarf & | .
| compulsory.
8. vt Iﬁ'ﬂ? & e 39y 7 8. Use of any electronic appliances is

strictly prohibited.

(L_/'1}112A__ T hEe—
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WYY - X/ SECTION - A

aﬁﬁ"ﬁ WY / Objective Type Questions

73 St 17 80 7% IRre wv &1 g @ Y a0 wyar &7 39w 3 A
waF T & ary aw fwe By no § fred @ o w41 we g 9
T W7t fawew &1 oMr ¥z o Rifd &F 40~ 1=40

Question Nos. 1 to 80 are of objective type. Answer any 40 questions. Each
question has four options out of which only one is correct. You have to mark

vour selected option on the OMR sheet, 40 x 1 = 40
g

_/;/ R W Seaet i e f W E 2
A) T | | ,,@// CESD
(C) F=ENE | D) wk i
Which of the following is the major excretory organ of human ?
(A)  Blood , (B) Kj&ncy .
(C) ~ Pancreas (D)  Sweat gland
fr i @ B Rl i @ e e e S & 2
(A) T (B) Q?zﬁ?
i€ gmiA - o e
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Which of the following is a hormone secrated by pituitary gland 7

iA)  Thyroxine (B) Androgen
(©)  Growth hormone (D}  Insulin
3 T W I s b
U o | B Ew
€ gt D) T}

Male reproductive organ of a flower is called

(A)  Stamen (B)  Pistil
(€)  Petal | (D)  None of these
4. RTEereard
_{;\54 ol | (B) l?mﬁirﬁ?m 5
©  Fremfrar I o i g

Binary fission occurs in

(A) Amoeba (B)  Paramecium

(C) Leishmania (D)  All of these

(L/1)112 A XSP-5512
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3. Tt{a;@ﬁ%

(A T B) mﬁ’lﬁ’ﬁ

©) ¥ B O QB T

Gametes are

(A)  always haploid (B)  always diploid
(©) always triploid (]5] any of me?.c
6. TARfEY
(A) WQWE?IFPH e (B qﬁ: HE g
© ?s'ﬁa' di - D) WEEHRH
Somatostatin is
(A) emergency hormone (B) | growth i-nhibjltor hormone
(C gro@ hm_-_monc (D)  cytokinin

7/ mﬁww%&mmﬁm%
(A)  SEF-EYE (B 1

(€ TEmea™ (D)  FEfEAt
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The structural and functional unit of kidney is called

(A)  Bowman's capsule "(B) Nephron

(C)  Glomerulus (D) Ureter
8. WY Aiasw i waitue Ryiad w7 @ |

(A)  HAgem B) W=

(©) WEH D)

The most highly developed part of human brain is

(A) Medulla ' (B)

Cerebellum
(©)  Cerebrum " (D) Pons
9. T %l urEan fhy W ekt et @ o

(A)  HeeHE (B) ADH

(C) g (D) S|
Concentration of urine depends upon

(A)  Melatonin * (B) ADH

) Titaine | (D)  Vasopressin

U FH Y ¢ | |

(A)  OI§or | B) uRee
(C) T SR y/ it w fafmg

——
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T : .
he ‘main function of stomata is

(A} Nutrition (B) Transportation
(C}  Photosynthesis (D)  Gaseous exchange
11, U&f ao am'fraz FUEE
1' (A) - STIENT 3T (B) Wﬁ 31

\@/ﬂﬂqf?ﬁ 3 (D) ¥ A FIS Tl :
Wings of birds and bats arc
(A) Vestigial organ (B} Homologous organ'

(C) Analogous organ (D)  none of these

| I?ﬁﬂ@ﬁﬁﬁﬂ%ﬁﬁ%@ﬁﬁm%mm%?

A)  BA L{B}/W
() A (D) IR

Which one of the following proteins is responsible for the red colour

of blood ?
(A) Heparin (B) Haemoglobin
(C) Thrombin (D) Fibrinogen

Page 9 of 44
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3 T i ) fgr @ e A
(A) 11 B) 22
(€) 23 o) 24
The number of pairs of autosomes in human is
(A) 11 (B) 22
€) 23 D) 24

4. 9N % e ﬂﬁﬁ@w%m%mﬁﬁwﬁaﬁﬁﬁmaﬁmﬁé
(A) TR B  frwo

©) TSt (D) I

The exit of water in the form of vapour from the aerial parts of the

Plant is known ag

(A) Diffusion (B) Osmosis

(C) Transpiration _ (D) Excretion

15. m#ﬁmﬁmﬁﬁwﬁwm?wﬁw%

(a)  en (B) &

() diem (D) e

(L/1)112 A [XsP-ss13] Page 10 of 44




When iodj u s
Ine solution i i i
lution is mixed with starch, its colour become

(A} blue (B) green
©)  yellow D)  red
}»./iff At iftretelt % mg weh o e &
A)  THEA B) i
(© mam W

The space in between two nerve cells is called

(A) Axon (B) Dendrite

(C) Impulse | (D)  Synapse

%m%

Wmﬁa‘i S B) TF @

©) T e o Y
Mushroom is ¥
(A) " a parasite (B) an autotroph
(C) a saprophyte (D) an algae
18. aﬁaﬂ qT & |
(a) ST & | (B) Yehat
(c) dqH (D) FHSRE Hl
XSP-5512 Page 11 of 44
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Style is a part of

; ] 5
B Stame
(A) Gynoecium (B)

9  Hilkment (D): Ovary
19 I 1 Faiwaw gpr
@ (B) SR
© ¥ () ¥
The hardest part of the tooth is
(A) Pu.lﬁ cavity ' ()  Dentine
(€)  Canine (D) Enamel
20- U W sfen , ga ot wr o g 9 e &
A) W B e
(C) WiERR: . D) wwE

In a food chain, who is always ét the second trophic leve] ?
(A) Herbivores (B) Autotrophs

(C) Carnivores , (D) Prodﬁcer

21. nﬁmmmﬁ%fmwzﬁtmmaﬁwm&qaﬁm

gdhd ?
(A) YT 9w R B e et R
© ot fE D) FEER Ry

(L/l}.l 12 A - Page 12 of 44



On which day we caqnot use solar heate.r to get hot water ?

(A} Sunnyday | (B) Cloudy daj.r

(C)  Hot day " (D) Windy day

22, Freefifian % 2 e St S 1 R 2

) v B R
\Mﬁaﬁu EnTrﬁ ‘ (D) HIFeN

' Which of the following is not an example of biomass energy source ?

(A) Wood ' | (B) Gobar gas

(©)  Atomic energy (D) Coal

o) T E R

Page 13 of 44
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rgans ?
Which are cxamples of homologous OTE
(A) Forelimb of human and dog

(B) Teeth of human and clephant

(€} Runner of potato and grass

D) All of these
3/ e F # wo  ad § 2
Mo @ e
(€C) T ’rw _ ¢9/ qTFT ol
Which of the following are pres_t;nt'in the anther ?

(A) Pistil - . : I(B] Ovules

) Sepals (D)  Pollen grains

25 ﬁmﬁﬁﬁ#mmwﬁnﬂm%(&% 2

A E, R qur e qaj/amaa?ﬁﬁmnma

© ==, e e vt (D) =T, Woelt qor gt

Which of the following constitutes g food chain 7

(A) Grass, wheat and mango (B) Grass, goat and human

(€} Goat, cow and elephant (D) Grass, figh and goat

C/1)112A
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26.  Philosophic Zovlogique T J&id &8 gRI Rt | € 2
(A) MG FR @) fhew g
© wEwEEm - - @©) @EdEm
Who wrote the book F;hilusnphic Zoologique ?
(A) Darwin | ‘ (B)  Miller
(C) Weismann . (D) Lamarck
27. W E‘q' Tig el Wed WA E 2
@A) A H !IB] BT |
€ Swmd . (D) TR d
Where are resins and gum stored in ?
(4)  Phloem (B) Bark
Gortex Old xylem.
/e/ﬁmﬁﬁmwﬁmﬁmaﬁlﬁqaﬁ% ?
@ ey &
(C) e - (D) BN
st vwhiich of the following mediums is the speed of light maximum ? -
(A) Water © .(B) AiIr

(C) Glass (D) Diamond

(L/1)112 A _ XSP-5512 Page 15 of 44



y/ﬁqamaﬂsrmg
B
W) & _
Cagl]
€ g

S. L. unit of electric charge is

A vorr - (B). ohm
©)  ampere | S |
.%%%Wﬁﬂmqﬁwﬁﬁqaﬁmaﬂmm%
| € IfEfy (D) .Eﬁﬁaﬁ'&}qﬁl

The valye of the current in the electric . circuit at the time

Overloading i

. (A) .very low (B) very high

| ) Unchangeq - (D)  none of these -
//:;;5 T B P Ry ' _-

(L/1)112 A |
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In which instrument is split ring uscd ?

(A)  Electric motor (B)  Electric gencrator
(C) Ammeter (D)  Galvanomcter
e g e e < e ST A 2
() ST U N il zrrhn
() Hae 90 | o FEAT

Whlch mirror is best suited for a solar cooker ?

(A) Convex mirror (B) Concave mirror

(C) Plane mirror: (D) Al of these

33, Taga faveral < S1 T &

M’R @) de wid FH
c TR o) 3

The SI unit of electric potential difference is

(A) volt (B) volt/ coulomb

(C) ampere (D) ohm

page 17 of 44
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; 3
] W e wfry 1 el a1 7 #

(A) e \‘B'/m

AT
€ & | (D)

A Yellow B Black
O Green | (D) Red
\}5/ RaAUR B pe— YT Tt 2t & 2
@ wEEdt g B e
€ (A ek () I (D) ¥ § Hi3 =&

Wh_at_type of current g received from the battery ?

(A) Alternaﬁng current (B) 'Direct Current

(©)  Both (A) ang B) D)  None of thege
j/mmmﬁﬁmnmqﬁmmwmaﬁmwmﬁh‘ﬂ

q T ey e g2

(L/1)112 A |
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ArY ) : .
hat is the relationship between the angle of incidence and the angle

of refraction on entering from a denser medium

medium ?
(A) The angle of incidence is greate:r‘
(B) The angle of refraction is greater
(C) Both angles are equal
(D) Noﬁe of these
37. WA W 3 TRl T HA §
wwfr @
- (©) a?ﬁlﬁﬁﬁ?rﬁ%ﬁ - {D}. Fwd

In a homogeneous medium light travels in

(A)  straight line (B) curved line

. (D) in circle

{Ci - indefinite ways

into a rarer

dgw T
1 1 1
& FTuT
1,1_1
Q) ¥ 7
Page 19 of 44
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s ] % 3 'I ;-_-I-—."'-'i—
s o : {F3) v ou  f

Yy S (D) none of these

= e ———— i » o
. ¥l T Ty wu L SeS— 2
T VE Q e ot w mveyt sifhmaw EAT € 2

y

(A] e (B) Eilel
€ = ]'/(-‘;”E;F
P
Whi :
11ch colour hag maximum wavelength in visible light ?
(A) Yellow (B) Blue

(C) Violet B Red
[l

(C) 1 diopt
Plre [D_:l

(L/1)112 A
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-

Fl/

7 fofan & ¥ ®-a o Rrm ooy § frea i # Feld @

TR ? ) ,
A) I*R - \EJ/IRQ
© VI D) V2R

Which of the following terms does not represent electrical power in an

electric circuit ? -
@ I°R - | '{B} IR?
©) VI | _ | D) V2?/R

. v e st s o
J/Hﬁiﬁ?%ﬂﬁ. @ wEEAH
(C)' (A) v @ (D) = q IS Tl

To increase the value of resistance, resistors should be connected in

(A) parallel | (B)  series
(C)~~ .both (4} and (B) (D)  none of these
o &1 et O ot & HROT &1 € ?

w oA y/@ﬂ
o) HfA

(€ TGS (
(L/1)112 A | Xsp-5512] page 21 of 44




w?

arine yello

Which pigment makes the colour of U
ch pig

.

(g)  Urochrome

(A} Haemoglobin
. Carotene
(C)  Chlorophyil D) _
7
(A) gy | (8) T

e g \@/ﬁ@a

Which of the following is not a renewable source of energy ?

(A) Wind (B) Water
(D} Pétrql
(B) =<
()" ugm (D)

Sexually transmitted disease is

(A) Jaundice (B) Sma]lpox

(C) AIDS (D)

_ Plague
(L/1)112 A - [ESP—SSI&]
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&/éﬁmﬁ@ﬂqﬁﬂﬂﬂm%?

(A)  EER B) it
C) HEEH MW
Which one of the fpﬁamng is conductor of electricity ?
(A)  Sulphur (B) Plastic
©)  Todine (D) Graphite
a7, Fretan & & 2 el & 1 T S o AT 6 2
@A) g - (B FER
© 9 | (D) A

. Which among the following may be biotic component of an

ccosystem ?

@A)  Soil (B . Fungi

(C) Air . (D) Temperature
4g. T SUSHV T € wﬁam%

@ feE .

(B) TR (earth wirc) Ll

() TS AR (neutral \ari'l:c) 3

o FHAT

:

[L/ 1)1 12 A | | XSP-5512 Page 25‘. of 44




. iance is connec
The metal cover of the electrical applian leq .
¢ meta '

Vit
(A)  Live wire (B)  Farth wire
B Nerirdlatie (D) none of thege
9. Preofa 4 3 frerd R A 1 3 8 ¥ 2
A e ,;:, . @B i@y
© wwwmmd ) A
In which of the following is electric motor used ?
(A) Electric fq:n 5 - (B) . Tape recorder
(€)  Lathe machine (D)  All of these
%mmﬁ%wwwﬁmaﬁaﬁﬁmaﬁmg
B i sor B) Ty Rrees
© &) 3k g D) sﬂﬁ#aﬁé -

The process of Combining ty,

nucleus jg called

(A} nuclear fusion (B) | Nuclear figg;
S510n

(C)  both (4) ang (B) D) none of ¢,
cse

(L/1)112 A
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1w I artad wR & f e ko
LY 1 D! @ a3
() =14 (D) @12
Carbon is a member of which group of modern Periodic Table ?
(A) Group 12 (B) Group 13

(C) ’__,Group 14 : (D) Group 2

%ﬁzﬁmﬁﬁﬁ@mmmmﬁ >
\,W/AI : B) - Hg

C) Fe | . D) Cu

(C

Bauxite is an ore of which of the following metals ?

(A) Al (B) Hg
(C) Fe () Cu
53, ﬂ%mﬂaﬁmﬁiﬁmﬁ“@% |
@) A L@ T

% | | (D) - T

(L/1)112 A ~ [XsP-5512}
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The metal which remains in e

(A)  Bromine

© 3 | - D) 4

What 1s the valency of sodium ?

{A) 1 (B) 2

(C) -3 (D) 4
. 55 ﬁrcgqmmqﬁw@%

A)  cuso

(C) Caso, . ino

(D) Caso

(L/1)112 A N
| XSP-5515]

(B)  Copper

(D)  Nitrogen

uid state at room tempﬁra

)

—

Page 26 of #



Oxides of most.of the metals are
(A)  Dbasic | (B)  gcidic
(C) neutral | D mﬁe of these
A ——— S S
| (A) P B) 4

o e

of a
How many bonds are there between two atoms

nitrogen ?
A 1 ® 4
(©) D S

58 W#WW‘*WWW‘??

molecule of .

| | Page 27 of 44
: XSP-5512 |
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an shell of sodiyp, .
How y electrons are there in the outermost ,
I

A) 4 {E':i 3
© 2 @ 1
59, i 4 @ -t o S i edTES B G ST FH
TR STTer & 2
(A) Mg | (B) Cu
(C) 2n .. (D) Fe

Which of the following metals is obtained by the electrolysis of

molten métal chloride ?
(A) Mg : (B) Cu
j  Zn - (D) Pe

: ﬁéma‘iﬁm%waﬁﬁmmﬁmmﬁﬁmm
%%mﬁﬁﬁw%r%mﬁmﬁ‘aﬁaﬁaﬁﬁﬁ@aﬁ?ﬁm%

(A)  HEF | B) fafes
(© e o g

following elements can it be ?
(A)  Carbon (B)

(C) Iron

(L/1)112 A [XSP-5512 Page 28 of 4




1

62.

63.

W“meﬁummﬁmmﬁm??

(A} B
®) e
(ST o) e
What is the colour of phenolphthalein indicator in alkaline medium ?
(A) Green (B) Pink
(C) Yellow (D) Bluc-
QHiics 3T F [UPAC M &

(&) RS In @) T I
(€) TUARE I D) eRRE I

. The IUPAC name of acetic acid is

(o)  Propanoic acid (B) Ethanoic acid

(C) Methanoic acid (D)  Tartaric acid

ﬁmﬁﬁﬁ@aﬁﬁ-ﬁﬂr@aﬁﬂzsqﬁaﬁfﬂwmﬁmﬁﬁ%?

(A) Mg (B) Zn
(C) Cu (D) Al
Which of the following metals docs not react with dilute HyS0, ?
(A) Mg (B) 2n
() Cu (D) Al

(L/1)1 12 A |7(SP'5512 | Page 2? of 44



j/ﬁmmﬁu@aﬁwwﬂﬂ 4
u/ s Hewan (B) AT
‘(C) dET-Tiyes - | (D) mqﬁm
Which of the following is a pair of metals ?

(A) Sodium-calcium "~ (B) _Carbon-sulphur

Copper-sulphur - (D) - Gold-phoSphorus

/m

\@/ Fa ?ﬁ[- ..
(C)  WERRE ) Fafee =
Diamond is an allotrope of
(A) Sulphur (_B} : Carbon
(C) _Phosphorus | | (D)  Silicon

(Cu ) ¥ Ty e g

A) 17 B) 19
e 26 | J,D)/ 29
(L/1)112 A ESP—5512 | Page 30




Th . .
¢ atomic number of copper ( Cu ) is
(A) 17
| B 19
(C) 26 : (
| D) 29
g7, SiERic ST IR A ?
a) Fawer ;
) | | R H
< Hall ﬁ. (o) A =
Oxalic apid is found in

(A) Vinegar

() Orange (D) Tomato
68. ﬁmﬁﬂﬁﬁﬁﬁaﬁﬂ-ﬁmaa%aﬂtﬂﬁaﬂ@aﬁfimaﬁﬁaﬁ ?
(A) Ms (B) Na
(C) As (D) Fe
which of the following metals does not react w1th cold and hot
water ?
A Me [é’ ha
© As D) Fe

L/1112 A



69, Prifen o § @ onTer™ & 7

- - 8n

(© Na-Hg () Pb-5n
Which of the following is an amalgam ?
(A) Cu-2Zn - | (B) Cu-Sn
(C)  Na-Hg - (D) Pb-Sn
- T % % F i uig forge 1 TR ST G 2
(A Cu @B | Al
J}’/ Ag D) Pb

Whi . .
ch of the following metals is the best conductor of electricity 7

(A) ~ Cu

(B) AL
(D) Pb
(B) Au
D) ¢y

(L/1)112 4 S |
' o Pach_;;;



which of th
e followi
ng met
als can displace zinc from zin¢ sulphalc

solution ?
A) Mg |
(B) Au

(C) Sh
: | (D) Cu

_This reaction is

(B) Reduction

(D) Decomposition 3




The i
Teactions that take place by absorpti

A i
(A) Combination reaction (B)

c ipil '
(€ Precipitation reaction (D)

74. POOH)NO, firy w57 wpaor & 2

A) ety wqoy (B)

€  SRFT Fer " (D)
Pb(OH)NO, is whi‘ch type of salt ?

(A)  Acidic salt (B)

) Basic salt | (D)
Y& I BT pH T Ree 2ty ¢ 2
4 3 | (

© 10 (D)

- What is the PH value of pure water ?

A :
(A 3 - (B)

on of sunlight are called

Photo-chemical reaction

Displacement reaction

| {rarg S dor

ot s

Normal salt

Mixed salt

7

4

©  TRwEm )g/g:rﬁ#w

(L/1)112 A —
| Page 34 of 44



7.

78.

ew

(A) Low
| (B) Restructuring

(C} Reuse
(D) All of these

.q.lﬁfv i .
. .%ﬁwmm*aﬁﬁ'@mﬁm_mm?

U A @ wwE e

(C) TS T & o) FEIER

Which type of bag should be used instead of polythcnc. bags ?

(A) Jute bag (B) Cloth bag

(C) Paper bag (D) All of these

aﬁﬁqﬁﬂ;ﬁmﬁﬁ-@aﬁwaﬁﬁ?

@) R B A
c T p) R
Which elements are found in coal and petroleum ?

(A) Nitrogen (B) Hydrogen

(©) Sulphur (D) All of these

L7112 A
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79 H’ﬂ‘ﬂﬂzm W,@m&:hﬂ

v e
308 I

(A} W Ay | FTAT

€ (a) 3l () 7] D) T

und water
' r to the gro
Which of the following is used to carry rain wate

level ?
(A) Bore we]l (B) Dug well

Both (A) an.cI (B) (D) Tubewell

ﬁ%ﬁﬂ%@ﬁﬁ@#ﬁ-mwmm 19 3R 22 F Ty
Rem

(A)  Na, Mg Ja;/r:q, Sc

(C) Cu,Zn (D) Ag, Au

Which of the following pairs of elements is located between atomic

numbers 19 and 29 ?

(A) Na, Mg - (B) Ca, Sc

(L/ 1)1 12.A M’ Page 36 of 44




i -9 | SECTION - B
mm!?hwicn

-'("T'CI I WER / Short Anm;wer Type Questions

s & forg 290 Pt &1

Question Nos. 1 to 8 are Short Answer Type.

question carries 2 marks. 4x2=8
/mﬁuﬁaﬁmﬁéﬂaﬁmm%? 2
onvex lens called a converging lens ?
p 2
Explain scattering of light.
2

/ﬁqaqma%ﬂﬂtmﬁ A T € 7

erstand by electromagne

What do you und tic mduc'tiun ?
Page 37 of 44
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; :
»-j/"iihwﬁl@ﬁﬂ?}aﬂq%@%ﬁ?
. mil’fﬂr &
How wil YOU recognise the nature of a spherical
2
S. mﬁmmm%wm&% ?
' ind ?
What are the benefits of getting energy from wind
. | 5
6. Sliamvn duy o1 wit JE '
What are the disadvantages of fossil fuels 2
T R I Pt @ g 2

Write the characteristics of solar energy.

8 aiqmma%%qsﬁ%maﬁ-wzzov 6ow%ﬂar% al 3 3we
T 37 T o

220V, 60 watt js written on an electric buip of domestic yge. What do
¥Oou mean by that 7

(L/1)112 A
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e T
B
/ Long Anlwu; 'pra Questions

v T 9 I ' |
| mﬁﬂtmm#fﬁﬁ#ﬁm‘iq%mmérm

_ x ' Ix6=6

Question Nos. 9
and 10 are Long Answer. Type. Answer any one of them.

Each question carries 6 marks. 1x6=6
X =

9. ')mmmﬁ.ﬁ@ﬁﬁﬁ;@%mﬁmﬁﬁﬁ%? 6

How will you show by cxpcrhncnt-that sunlight has seven colours ?

¥ .
o

Mﬁqlﬁmmﬁaﬁaﬁa.mmﬁﬂmmﬁ

100-%3@3?“‘3?‘@%'

Find the potential difference across the ends of a resistor of 4 ohnt if

100 joules of heat is produced per second.

. Page 39 of 44
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TRIET YRR / Chemistry

tions
Wﬁ'ﬂ'ﬂ b Short Answer Type Questio

| estions. Each
Question Nos. 11 to 18 dre Short Answer Type. Answer any 4 qu

- ; : ' 4x2=8

Question carries 2 marks. i

11. mwwwmmﬁww&%‘? . 2
How can we' conserve the water resources ?

12, ﬂh%ﬂm%mq\auﬂmﬁ;wfﬁél -2

Write the structural formulae and names of the isomers of pentane.
. Wmﬁmmmmm: -2
(i ﬁr’m’{sh‘wﬁlﬁﬁmf%n—»ﬁﬁwmi
+ ERGT (g)
(i) ﬁ?ﬁwm@(aqnﬂmmm}_,

T (5 + e amet [ ag)
(L/1)112 A ]xsp-ssm[ ' Page 40 of 44




Write the balanced chemical equz;ticns for the following reactions :
(1) Zing (s) + Sulphuric acid (ag) — Zinc sulphate (aq)
+ Hydrogen (g}
(iiy ~ Barium chloride (ag) + Sulphuric acid (ag) =
Barium sul‘phe_‘tc (s) + Hydrochloric acid .[aqj

M/FE@W?HW% IATFR TFRFERE 2 2

What are hydrocarbons ? What are its types ?

15. éﬂﬁ&\ﬁﬁmﬂ?wwmm%? 2
What are the effects of dl.-ink{ng alcohol on the body ?
16, Vg FE ? 2
l\l..fl.lat 1S sbap ?
17. ﬂ’iﬁﬂﬂtﬂ@_ﬁmﬁmﬁgﬁwﬁwaﬁ%? | 2
Why is sodium metal kept immersed in l:tcro‘s.cne ?
8. aﬁamm%v | S
What are minerals ? |
XSP-5512 ‘ Page 41 of 44
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uyestions

ﬁﬁaﬂ'&qm / Long Answer Type Q

. 0%
D}?mlgw2owam9qfr’##wwﬂm?f Iy
%ﬁvsar‘arﬁmﬁ?gg, fro=s

Question Nos. 19 and 20 are Long Answer Type. Ansiee
Each question carries 5 marks.

r any one Uf Ihenl.
Ix5=35

19. W%E@mwmﬁ?@!s@ﬁw*wﬁmﬂm
ford ) ' 2

Name thé main ore of m:.:rcury, Write the principle of extraction of
mercury from it.

20.  STOT-WR&TT Ul or-He & forw a fpar T @ie 2 >

What should be done for -water cohservation and . water

management ? ht[ps:;"ﬁ'www.hihartopper.u)m
- St fa@T / Biology
oY IAT WY / Short Answer Type Questions

mmzi_#zswagmﬁvﬁr.sﬁ#%ﬁ4w#%m%m

T F forw 290 fraifia 31 4x2=8
Question Nos. 21 to 28 are Short Answer Type. Answer any 4 questions. Each
question carries 2 marks. - - 4x2=8
21, AR Y ) | | 9

What is environment ? - ' _ '

(L/ 1]112 A - ) XSP-SSIQ ) Page 42 of 44
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Wl:mt is the taste bud ?

3. DNA TTERTHT H MR ¥ R 7

DNA is the basis of heredity. How ?

24. Wsﬂﬁ%fﬂﬂw%?

-,
&

What is glycolysis ?

n5. ITorHT PR FEA € ?

Who are known as consumers ?

26. mﬁwﬁ\é'aﬁmaﬁ% ?
How can the environment be protected ?
o7 et 3 Rt i o el i o ¥ 2

Why do you sweat a lot during summer days ?

*

(L/1)112 A
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8. WK ¥ ¥ Al fefwe fgfem & I

Why are some diabetic patients treated wi

E = ?;'-:!;

th insulin injections ?

I ITAT W / Long Answer Type Questions

U¥T WEaT 29 UF 30 37 Iawiw &1 39 @ fFET

* frw s siF Fraifi 31

Question Nos. 29 and 30 are Long Answer Type. Answer any one of

vF @7 I97 ¢ FEE o

Ix5=§

-
e,

Each question carries 5 marks. 1x5=3

20, THH I T & ? 9¢ 5 IR FH FLA & ? z
What is artificial kidney ? How does. it work ?

30. OFE ARdSh & J&I S % IeiE@ A -5
Mention the main functions of humr.:m brain. ‘
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